Guess Paper – 2008

Class – X
Subject – Mathematics

1) The angle of elevation of the top of a tower from a point on the ground is 30°. After walking 30 m  towards the tower, the angle of elevation becomes 60°. What is the height of the tower?

2) If the angle of elevation of the cloud from a point h m above a lake is α and the angle    of depression of its reflection in the lake is β, prove that the height of the cloud is    h(tan β + tan α)
                       tan β - tan α  

3) The angle of elevation of a jet plane from a point A on the ground is 60◦.  After a 

flight of 15 seconds, the angle of elevation changes to 30◦.  If the jet plane is     

flying at a    constant height at a constant height of 1500√3 m, find the speed of the jet plane.

4) .At the foot of a mountain elevation of its summit is θ. After ascending ‘k’ m towards the mountain up an incline of φ, the elevation changes to α. Prove the height of mountain is K( cos φ-sin φ cot α) ÷ cot θ-cot α    

5) As observed from the top of a  75m high  lighthouse from the sea-level, the angles of depression of two ships are 300 and 450. If one ship is exactly behind the other on the         same side of the light house, find the distance between the two ships.

6) A tower is surmounted by a flag staff of height h. At a point on the plane, the angle of elevation  of  the  bottom  and top of the flag staff are α and β respectively. Prove that the height of the tower is    h tanα     .

 tanβ – tanα 

7) Two pillars of equal height stand on either side of a roadway which is180 m wide   From a point on the roadway between the pillars, the angles of elevations of the top of the pillars are 60˚ and 30˚. Find the height of the pillars and the position of the point.

8) The angle of elevation of the top of a building from the foot of the tower is 30º and the angle of elevation of the top of the tower from the foot of the building is 60º. If the tower is 50m high, find the height of the building.

9) From the top of a 7m high building, the angle of elevation of the top of a cable tower is 60º and the angle of depression of its foot is 45º. Determine the height of the tower.

10) .A 1m tall girl spots a balloon moving with the wind in a horizontal line at a

height of 50m from the ground. The angle of elevation of the balloon at that

instant was 600, after sometime, the elevation decreases by 150. Find the

distance traveled by the balloon during the interval.

11) .From a window ( h metres high above the ground) of a house in a street, the angles of elevation and depression of the top and the foot of another house on the opposite side of the street are ( and ( respectively, show that the height of opposite house is h(1+tan( cot().

12) If the angle of elevation of a cloud from a point h metres above a lake is α and the angle of depression of its reflection in the lake is β, find that the height of the cloud?

13) A tower stands vertically above from the ground. From a point on the ground which is 15 m away from the foot of the tower, the angle of elevation of the top of the tower is found to be 60o. Find the height of the tower.

14) The shadow of a tower standing on a level ground is found to be 40 m longer when the sun altitude is 30o than when it is 60o. Find the height of the tower.

15) Two pillars of equal height are on either side of a road, which is 100 m wide. The angles of elevation of the top of the pillars are 
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 and  at a point on the road between the pillars. Find the position of the point between the pillars and the height of each pillar.

16)  From the top of the hill, the angles of depression of two consecutive kilometer stones due east are found to be [image: image2.png]30°



 and [image: image3.png]45°



. Find the height of the hill.

17) The angles of elevation of the top of a tower from two points at distances [image: image4.png]


 and [image: image5.png]


 metres from the base and in the same straight line with it are complementary, prove that the height of the tower is [image: image6.png]


 metres.

18) The  most  frequent  value  is  called  …………………….  

19) Find mode of 1, 1, 2, 3, 7, 9, 8, 8, 4, 5, 8, 10, 11, 15, 8, and 8 

20)  Find appropriate average for observations 2, 3, 4, 5, 6, 7, 20000

21)  Find the mean of first 10 prime numbers 

22)     Find  mean  by  direct  method  

	CI 
	0-10 
	10-20 
	20-30 
	30-40 
	40-50 
	50-60 

	Frequency 
	17 
	13 
	14 
	4 
	2 
	20 


23) Find  mode  

	CI 
	0-9 
	10-19 
	20-29 
	30-39 
	40-49 
	50-59 

	Frequency 
	11 
	11 
	13 
	19 
	15 
	11 


24)  Find missing frequencies x and y if mean = 61.2 and sum of frequencies is 50  

	CI 
	0-20 
	20-40 
	40-60 
	60-80 
	80-100 
	100-120 

	Frequency 
	10 
	5 
	7 
	X 
	Y 
	10 


25) Find the mean of First n natural Number.

